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1. v.Mk nsus okyh eqxhZ ds nkus esa fxzV dk 

izfr’kr gksuk pkfg, % 

 
1. The percentage of grit in the feed for egg 

laying hen should be : 

(A) 1%  (A) 1% 

(B)  1.5%  (B)  1.5% 

(C)  2%  (C)  2% 

(D)  3%  (D)  3% 

2. dM+dukFk dgk¡ dh uLy gS \ 
 

2. Kadaknath is a breed of : 

(A) e/; izns’k  (A) Madhya Pradesh  

(B) vka/kz izns’k  (B)  Andhra Pradesh  

(C) mŸkj izns’k  (C)  Uttar Pradesh  

(D) iatkc   (D)  Punjab 

3. jkuh[ksr chekjh ds fy, izFke Vhdkdj.k dh 

vk;q gS % 

 
3. Age of first vaccination for Ranikhet 

disease is : 

(A) 1 fnu  (A) 1 day 

(B) 1&7 fnu  (B)  1-7 days 

(C) 3&4 lIrkg   (C)  3-4 weeks 

(D) 16 lIrkg   (D)  16 weeks 

4. cVsj ds v.Ms dk vkSlr otu gksrk gS % 
 

4. Average egg weight of quail is  : 

(A) 5 xzke  (A) 5 gm 

(B) 10 xzke  (B)  10 gm 

(C) 15 xzke  (C)  15 gm 

(D) 17 xzke  (D)  17 gm 



 

AG–4010 ( 4 )  Set-C 

5. eqxsZ ds ek¡l dk Mªsflax izfr’kr gksrk gS % 
 

5. Dressing percentage of chicken meat is : 

(A) 50-52%  (A) 50-52% 

(B)  60-62%  (B)  60-62% 

(C)  70-72%  (C)  70-72% 

(D)  80-82%  (D)  80-82% 

6. v.Mk nsus okyh eqxhZ dks izfrfnu vkgkj dh 

vko’;drk gksrh gS % 

 
6. Egg laying hen need daily diet : 

(A) 110&120 xzke  (A) 110-120 gm 

(B) 120&140 xzke  (B)  120-140 gm 

(C) 140&160 xzke  (C)  140-160 gm 

(D) 90&100 xzke  (D)  90-100 gm 

7. eqxhZ dk dkSu&lk lewg lQsn v.Ms nsrk  

gS \ 

 
7. Which group of chicken lay white  

eggs ? 

(A) vesfjdu  (A) American 

(B) ,f’k;kfVd  (B)  Asiatic  

(C) bafXy’k  (C)  English  

(D) esMhVssjsfu;u   (D)  Mediterranean  
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8. eqxhZ fcNkou dkSu&ls foVkfeu dk ,d vPNk 

lzksr gS \ 

 
8. Poultry litter is a good source of : 

(A) foVkfeu ,  (A) Vitamin A 

(B) foVkfeu ch12  (B) Vitamin B12 

(C) foVkfeu bZ  (C)  Vitamin E 

(D) foVkfeu Mh  (D)  Vitamin D 

9. lh- vkj- Mh- jksx fdlds dkj.k gksrk gS \ 
 

9. C. R. D. disease is caused by : 

(A) okbjl  (A) Virus 

(B) izksVkstksvk  (B)  Protozoa 

(C) thok.kq   (C)  Bacteria 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above 

10. fuEufyf[kr eas ls cM+k ;d`r jksx gS % 
 

10. Big liver disease of the following is : 

(A) eSjsDl jksx  (A) Marek‟s disease  

(B) xEcksjks jksx  (B)  Gumboro disease  

(C) Qkmy ikWDl  (C)  Fowl pox 

(D) dkWDlhfM;ksfll  (D)  Coccidiosis 

11. eqxhZ ds v.Mk’k; esa fdrus NksVs v.Mk.kq ik;s  

tkrs gSa \ 

 
11. How many number of small ova are 

found in ovary of hen ? 

(A) 360-900  (A) 360-900 

(B)  900-3600  (B)  900-3600 

(C)  6000-8000  (C)  6000-8000 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above 
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12. dkWDlhfM;ksfll jksx fdlds dkj.k gksrk gS \ 
 

12. Coccidiosis disease is caused by : 

(A) thok.kq   (A) Bacteria 

(B) okbjl  (B)  Virus 

(C) izksVkstksvk  (C)  Protozoa 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above 

13. v.Ms dk [kksy izfr’kr gS % 
 

13. Shell percent of the egg is : 

(A) 58%  (A) 58% 

(B)  31%  (B)  31% 

(C)  11%  (C)  11% 

(D)  7%  (D)  7% 

14. dqDdqV i{kh ds fy, flj ij xgjs yky jax ds 

ek¡ly Hkkx dks dgrs gSa % 

 
14. The dark red fleshy part on the head of 

poultry bird is called : 

(A) oSVy  (A) Wattle  

(B) CysM  (B)  Blade 

(C) bZ;j yksc  (C)  Ear lobe 

(D) dkWEc  (D)  Comb 

15. eqxhZ ds cPps dks dgrs gSa % 
 

15. Chicken baby is called : 

(A) fpd  (A) Chick 

(B) iqysV  (B)  Pullet  

(C) czkW;yj  (C)  Broiler  

(D) czwMh  (D)  Broody  



 

AG–4010 ( 7 )  Set-C 

16. pwtk fudkyus dh e’khu dks dgk tkrk  

gS % 

 
16. Halching machine is called : 

(A) czwMj  (A) Brooder  

(B) gSpjh  (B)  Hatchery  

(C) dS.Myj  (C)  Candler 

(D) buD;wcsVj  (D)  Incubator  

17. ek¡l dk yky jax fdldh mifLFkfr ds dkj.k 

gksrk gS \ 

 
17. Red colour of meat is due to presence  

of : 

(A) dSjksVhu  (A) Carotene 

(B) tSUFkksfQy  (B)  Xanthophyll  

(C) ek;ksXyksfcu  (C)  Mayoglobin 

(D) gheksXyksfcu  (D)  Hemoglobin 

18. fiatjk i)fr eas ,d eqxhZ ds fy, LFkku i;kZIr 

gS % 

 
18. Cage system has enough space for one 

hen : 

(A) 0.3-0.5 oxZ QhV  (A) 0.3-0.5 square feet 

(B)  0.5-0.7 oxZ QhV  (B)  0.5-0.7 square feet 

(C)  0.7-1.0 oxZ QhV  (C)  0.7-1.0 square feet 

(D)  2.5-3.0 oxZ QhV  (D)  2.5-3.0 square feet 



 

AG–4010 ( 8 )  Set-C 

19. tc eqxhZ v.Mksa eas cSBdj mUgsa lsus dh bPNk 

j[krh gS] dgykrh gS % 

 
19. When the hen sits on the eggs and wants 

to incubate them, it is called : 

(A) ys;j eqxhZ  (A) Layer hen 

(B) iqysV eqxhZ  (B)  Pullet hen 

(C) czwMj  (C)  Brooder 

(D) dqM+d eqxhZ  (D)  Broody hen 

20. eqfxZ;ksa esa v.Mk nsus dh fØ;k dgykrh gS % 
 

20. The process of laying eggs in chickens is 

called : 

(A) vksohiksth’ku  (A) Oviposition  

(B) vksO;qys’ku  (B)  Ovulation  

(C) gSfpax  (C)  Hatching  

(D) czwfMax  (D)  Brooding 

21. xEcksjks dks bl :i esa Hkh tkuk tkrk gS % 
 

21. Gumboro is also known as : 

(A) lh- vkj- Mh-  (A) CRD 

(B) vkbZ- ch- Mh-  (B)  IBD 

(C) laØked czksUdkbfVl  (C)  Infectious bronchitis 

(D) laØked dksjkbtk  (D)  Infectious coryza 
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22. eqxhZ dh fdl uLy dks ßdkyk eklhÞ ¼dkyk 

ek¡l½ ds uke ls tkuk tkrk gS \ 

 
22. Which breed of chicken is known as 

“Kala Masi” (Black Meat) ? 

(A) dkWfuZ’k  (A) Cornish  

(B) vlhy  (B)  Aseel  

(C) dM+dukFk  (C)  Kadaknath 

(D) fpVxk¡o  (D)  Chittagong 

23. ,d QhM gksij i;kZIr gS % 
 

23. One feed hopper is enough for : 

(A) 10 eqfxZ;ksa ds fy,  (A) 10 hens 

(B) 15 eqfxZ;ksa ds fy,  (B)  15 hens 

(C) 20 eqfxZ;ksa ds fy,  (C)  20 hens 

(D) 25 eqfxZ;ksa ds fy,  (D)  25 hens 

24. v.Ms esa ik;k tkus okyk ty izfr’kr gS % 
 

24. The water percent found in egg is : 

(A) 66  (A) 66 

(B)  60  (B)  60 

(C)  70  (C)  70 

(D)  94  (D)  94 
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25. 8 lIrkg dh vk;q rd ek¡l ds mís’; ls ikys 

x;s uj&eknk i{kh dgykrs gSa % 

 
25. Male and female birds reared for meat 

purpose upto 8 weeks of age are  

called : 

(A) :LVj  (A) Rooster  

(B) czkW;yj  (B)  Broiler 

(C) dkWdjsy  (C)  Cockerel 

(D) dkWd  (D)  Cock 

26. cŸk[k ds v.Ms dh Å”ek;u vof/k gS % 
 

26. Incubation period of duck is : 

(A) 17 fnu  (A) 17 days 

(B) 21 fnu  (B)  21 days 

(C) 28 fnu  (C)  28 days 

(D) 18 fnu  (D)  18 days 

27. fu”ksfpr v.Ms ds fy, Hk.Mkj.k rkieku  

gS % 

 
27. Storage temperature for fertile eggs  

is : 

(A) 5°C  (A) 5°C 

(B)  10°C  (B)  10°C 

(C)  15°C  (C)  15°C 

(D)  20°C  (D)  20°C 
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28. xgjh fcNkou i)fr ds fy, loZJs”B fcNkou 

lkexzh gS % 

 
28. Best litter material for deep litter  

system is : 

(A) lw[kh ?kkl  (A) Dry grass 

(B) xsgw¡ dk Hkwlk  (B)  Wheat bhusa  

(C) /kku dh Hkwlh  (C)  Paddy husk 

(D) ydM+h dk cqjknk  (D)  Wood dust 

29. eqxhZ vkgkj ds fy, lcls yksdfiz; vukt  

gS % 

 
29. Most popular grain for poultry  

feed : 

(A) pkoy  (A) Rice 

(B) xsgw¡  (B)  Wheat 

(C) cktjk  (C)  Bajra 

(D) eDdk  (D)  Maize 

30. Hkkjr eas eqxhZikyu ds tud gSa % 
 

30. Father of Poultry Farming in India is : 

(A) MkW- ch- oh- jko  (A) Dr. B. V. Rao 

(B) MkW- ch- ih- iky  (B)  Dr. B. P. Pal 

(C) MkW- oh- dqfj;u  (C)  Dr. V. Kurien 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above 
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31. vkbZ- lh- ,e- vkj- }kjk izfro”kZ vaMk [kkus dh 

laLrqfr gS % 

 
31. ICMR recommends eating eggs every 

year : 

(A) 182  (A) 182 

(B)  270  (B)  270 

(C)  280  (C)  280 

(D)  365  (D)  365 

32. lokZf/kd v.Mk mRiknd jkT; gS % 
 

32. The largest egg producing state is : 

(A) iatkc  (A) Punjab 

(B) vka/kz izns’k  (B)  Andhra Pradesh  

(C) rfeyukMq  (C)  Tamil Nadu 

(D) egkjk”Vª  (D)  Maharashtra  

33. eqxhZ ds ,d lkekU; v.Ms ls ÅtkZ izkIr gksrh 

gS % 

 
33. ................... energy is obtained from a 

normal chicken egg. 

(A) 58 dSyksjh  (A) 58 calories 

(B) 70 dSyksjh  (B)  70 calories 

(C) 80 dSyksjh  (C)  80 calories 

(D) 90 dSyksjh  (D)  90 calories 

34. v.Mk mRiknu gsrq izfr 100 eqxhZ ij fdrus 

uj dh vko’;drk gksxh \ 

 
34. How many males are needed per 100 

hens for egg production ? 

(A) 5 uj  (A) 5 males 

(B) 10 uj  (B)  10 males 

(C) 20 uj  (C)  20 males 

(D) uj vko’;d ugha   (D)  Male not required  
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35. v.Mk nsus ds fy, fo’o izfl) eqxhZ dh uLy 

gS % 

 
35. The world famous chicken breed for egg 

laying is : 

(A) lQsn ysxgkWuZ  (A) White leghorn 

(B) IykbZekmFk jkWd  (B)  Plymouth rock  

(C) dkWfuZ’k  (C)  Cornish  

(D) dM+dukFk  (D)  Kadaknath 

36. izkS<+ uj eqxsZ dks dgk tkrk gS % 
 

36. Adult male chicken is called : 

(A) eqxkZ  (A) Murga 

(B) dkWdjsy  (B)  Cockerel  

(C) dkWd~  (C)  Cock 

(D) Qkmy  (D)  Fowl 

37. d`f”k vkSj izlaLd`r [kk| mRikn fu;kZr fodkl 

izkf/kdj.k ¼,ihMk½ dh LFkkiuk dh xbZ Fkh % 

 
37. Agricultural and Processed Food 

Products Export Development Authority 

(APEDA) was established in : 

(A) 1937 esa  (A) 1937 

(B)  1954 esa  (B)  1954 

(C)  1985 esa  (C)  1985 

(D)  2006 esa  (D)  2006 

38. fuEufyf[kr esa v.Mk nsus okyh cŸk[k dh uLy 

gS % 

 
38. Which of the following is breed of egg 

laying duck ? 

(A) [kkdh dSEicsy  (A) Khaki Campbell  

(B) eLdksoh  (B)  Muscovy  

(C) isfdu  (C)  Peckin  

(D) ,fylcjh  (D)  Aylesbury  
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39. dqDdqV’kkyk esa ,d czk;yj ds fy, fdruh 

txg pkfg, \ 

 
39. How much space is required for broiler in 

poultry house ? 

(A) 1@4 oxZ QhV  (A) 1/4 square feet 

(B) 1@3 oxZ QhV  (B)  1/3 square feet 

(C) 1@2 oxZ QhV  (C)  1/2 square feet 

(D) 1 oxZ QhV  (D)  1 square feet 

40. xgjh fcNkou i)fr esa v.Mk nsus okyh eqxhZ 

dks fdrus LFkku dh vko’;drk gksrh gS \ 

 
40. How many space is required for laying 

hen in deep litter system ? 

(A) 1-1.5  oxZ QhV  (A) 1-1.5 square feet 

(B)  1.5-2.0 oxZ QhV  (B)  1.5-2.0 square feet 

(C)  2.0-2.5 oxZ QhV  (C)  2.0-2.5 square feet 

(D)  2.5-3.0 oxZ QhV  (D)  2.5-3.0 square feet 

41. eqfxZ;ksa dh pksap dkVus dk mís’; gS % 
 

41. The purpose of debreaking in hen  

is : 

(A) ia[k uksapuk fu;af=r djus ds fy,   (A) To control feather picking  

(B) nkus dh cckZnh jksdus ds fy,   (B)  To control feed wastage  

(C) Lotkfr Hk{k.k fu;af=r djus ds fy,  (C)  To control cannibalism  

(D) mi;qZDr lHkh  (D)  All of the above 
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42. dSaMfyax dh fØ;k fdlls lEcfU/kr gS \ 
 

42. Candling is related to : 

(A) v.Ms ds vkUrfjd ijh{k.k   (A) Internal egg test 

(B) v.Mksa ds Js.khdj.k   (B)  Grading of eggs 

(C) v.Ms ds la?kVu   (C)  Composition of eggs 

(D) v.Ms dh lajpuk   (D)  Egg structure 

43. ^dSjh* dgk¡ ij fLFkr gS \ 
 

43. Where is „CARI‟ located ? 

(A) bTtr uxj] cjsyh  (A) Izzat Nagar, Bareilly  

(B) vka/kz izns’k  (B)  Andhra Pradesh  

(C) djuky] gfj;k.kk  (C)  Karnal, Haryana 

(D) x<+ eqDrs’oj  (D)  Garh Mukteshwar 

44. fpdsu ek¡l esa izksVhu izfr’kr gS % 
 

44. Protein percent in chicken meat is : 

(A) 18%  (A) 18% 

(B)  21%  (B)  21% 

(C)  23%  (C)  23% 

(D)  24%  (D)  24% 

45. cf/k;k eqxkZ dgykrk gS % 
 

45. Castrated chicken is called  : 

(A) :LVj  (A) Rooster 

(B) dkWd  (B)  Cock  

(C) dkWdjsy  (C)  Cockerel  

(D) dSiu  (D)  Capon  
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46. og LFkku tgk¡ fMac fu”ksfpr gksrk gS % 
 

46. Place where ovum is fertilized : 

(A) v.Mk’k;  (A) Ovary  

(B) xHkkZ’k;  (B)  Uterus  

(C) v.Mokfguh dk bUQafMcqye  (C)  Infundibulum of oviduct 

(D) v.Mokfguh dk Dyks,dk  (D)  Cloaca of oviduct 

47. Østh fpd jksx fdldh deh ls gksrk gS \ 
 

47. Crazy chick disease is caused by 

deficiency of : 

(A) foVkfeu ch2  (A) Vitamin B2 

(B) foVkfeu bZ  (B)  Vitamin E 

(C) foVkfeu Mh  (C)  Vitamin D 

(D) foVkfeu ch6  (D)  Vitamin B6 

48. dqDdqV’kkyk eas fcNkou eas ueh izfr’kr % 
 

48. In poultry house moisture percent in litter : 

(A) 20-25%  (A) 20-25% 

(B)  15-20%  (B)  15-20% 

(C)  10-15%  (C)  10-15% 

(D)  8-12%  (D)  8-12% 

49. v.Mk cuus eas fdrus ?kaVs yxrs gSa \ 
 

49. How many hours take for egg formation ? 

(A) 21 ?kaVs  (A) 21 hours 

(B) 23 ?kaVs  (B)  23 hours 

(C) 25 ?kaVs  (C)  25 hours 

(D) 27 ?kaVs  (D)  27 hours 
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50. fdl o.kZd ds dkj.k eqxhZ dh Ropk dk jax 

ihyk gksrk gS \ 

 
50. Due to which pigment the skin colour of 

chicken is yellow ? 

(A) DyksjksfQy  (A) Chlorophyll  

(B) tSUFkksfQy  (B)  Xanthophyll 

(C) ek;ksXyksfcu  (C)  Myoglobin 

(D) dSjksVhu  (D)  Carotene  

51. eqxhZ dh nksgjs mís’; okyh uLy gS % 
 

51. Dual purpose breed of chicken is : 

(A) feuksdkZ  (A) Minorka 

(B) ysxgkWuZ  (B)  Leghorn 

(C) IykbZekmFk jkWd  (C)  Plymouth Rock 

(D) vlhy  (D)  Aseel 

52. v.Ms dh tnhZ esa olk izfr’kr gS % 
 

52. Fat percent in egg yolk is : 

(A) 32.5%  (A) 32.5% 

(B)  17.5%  (B)  17.5% 

(C)  11.5%  (C)  11.5% 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above 

53. Å”ek;u ds nkSjku buD;wcsVj dk rkieku gksuk 

pkfg, % 

 
53. Temperature of incubator during 

incubation should be : 

(A) 70-72°C  (A) 70-72°C 

(B)  80-82°C  (B)  80-82°C 

(C)  90-92°C  (C)  90-92°C 

(D)  100-102°C  (D)  100-102°C 
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54. eqxhZ ds v.Ms dh Å”ek;u vof/k gS % 
 

54. Incubation period of chicken egg is : 

(A) 17 fnu  (A) 17 days 

(B) 18 fnu  (B)  18 days 

(C) 21 fnu  (C)  21 days 

(D) 28 fnu  (D)  28 days 

55. czk;yj LVkVZj eas izksVhu izfr’kr gksrk gS % 
 

55. Protein percent in Broiler starter is : 

(A) 20%  (A) 20% 

(B)  22%  (B)  22% 

(C)  24%  (C)  24% 

(D)  18%  (D)  18% 

56. v.Mk nsus okyh eqxhZ ds jk’ku esa ÅtkZ izfr’kr 

gS % 

 
56. Energy percent in layer ration is : 

(A) 3000 dSyksjh  (A) 3000 cal. 

(B) 2900 dSyksjh  (B)  2900 cal. 

(C) 2600 dSyksjh  (C)  2600 cal. 

(D) 2700 dSyksjh  (D)  2700 cal. 

57. czwMj dk rkieku igys lIrkg esa gksuk pkfg, % 
 

57. The temperature of brooder should be at 

first week : 

(A) 93-95°F  (A) 93-95°F 

(B)  90°F  (B)  90°F 

(C)  85°F  (C)  85°F 

(D)  70°F  (D)  70°F 
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58. dqDdqV ek¡l dks dgrs gSa % 
 

58. Poultry meat is called : 

(A) psou  (A) Chevon 

(B) osy  (B)  Veal 

(C) cSdu  (C)  Bacon 

(D) fpdsu  (D)  Chicken  

59. uj cŸk[k dgykrh gS % 
 

59. Male duck is called : 

(A) :LVj   (A) Rooster 

(B) MªSd  (B)  Drake 

(C) dkWd  (C)  Cock 

(D) xkscylZ  (D)  Gobblers 

60. ,d o”kZ ls de mez ds uj eqxsZ dks dgk tkrk 

gS % 

 
60. Male chicken less than one year age is 

called : 

(A) Qkmy  (A) Fowl 

(B) fxuh Qkmy  (B)  Guinea fowl  

(C) dkWd  (C)  Cock 

(D) dkWdjsy  (D)  Cockerel  

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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